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12. a) If 32"+2 - 811 - 9is divisible
by 'k' for all n e N is true, 
then which one of the 
following is a value of 'k'? (1) 

i) 8 ii) 6 iii) 3 iv) 12

b) Prove by using the principle
of Mathematical Induction

P (n) = 1 + 3 + 32 + .......

+ 3n-l = 3" - 1 
is true for all

2 
neN. (3) 

13. a) Solve the inequality

2x - 1 > 3x - 2 _ 2 - x
(S) 

3 - 4 5 

b) Represent the solution on a
number line. (1) 

14. a) Find the n th term of the
sequence 3, 5, 7, ............. (1) 

b) Find the sum to n terms of
the series.

2 2 2 3xl + 5x2 + 7x3 + .......... (3)

15. Find the equation of the circle
passing through the points (4, 1)

and (6, 5) and whose centre is on
the line 4x + y = 16.

16. Consider a point A (4, 8, 10) in
space.
a) Find the distance of the point

A from XY-plane. (1) 

b) Find the distance of the point
A from X-axis. (1) 

c) Find the ratio in which the
Ii ne segment joining the
point A and B (6, J 0, -8) is

K-437

divided by YZ-plane. (2) 

12. a) 3211+2 - Sn - 9, n e N oG)CTn®
'k' 6l.e.o6mi m1coon!lo n!la>1.e6>� 
.e,'91(!2)JCTnml06)61Y)ll!,1<&i, 'k' <ll>J6lS 
oJ1 el ml 06>'9 6l.&, OS 6 <ml1 <ll1.e6> 6 cm 

118 

ruavl� O@m◊6ffi? ( 1 ) 
i) 8 ii) 6 iii) 3 iv) 12

b) P(n}
°

=l+3+32 + ...... . 

n-1 3" - 1 + 3 = -
2
- ne N "G)CTn®

tn.llol>milll:J<&i 6l0n!l Q)=ll>Ofj1.e6)(&) 
� ci1, cw .e,,, on � n.J a <ll> o 001.o.l 
(Jl)<ll1(!2)0Ql\' "(j)OYi' 00lfl'lavl.e6>J.&,. (3) 

2x-l 3x-2 2-x 
13. a) � ---

3 4 5 
O(j)CTn ���fl1.oo' n.J<ll1n!lO<llo 
-• .e.. (3) 

b) n.J<ll1n!lO<llo 6l<l>J m>o6lJ.)O C<ll6lJ<!2ilaf3
mi,,,J!ll:Jl-• .e. ( 1) 

14. a) 3, 5, 7, . . ........ ... oG)CTn 
<l�6ffi1(!2)06lS ll·OOn.JBo .&,06mJ.&,. (1)

b) 3xl2 + 5x2 2 + 7x32 + ......... . 
"G)CTn milc6'lmil6l'Vl n n.J<36mm6ls 
®·.&, .&,061Y)J.&,. (3) 

15. a.e.tmo 4x + y = 16 "G)CTn rua,<!lil
ei6o, (4, 1), (6, 5) oG)mll mJlm6.e6>@1
ru,6ls .e,scm6 an.Jo.e.6cmm6mo(!2)
ru,ymxmi16l<fl m,a,ruo.e..10 .e.o6m6.e,.

16. A (4, 8, 10) "G)CTn m>"6ln.Jm>16le,
mJlm6 n.J<ll1oomil.e6>0.e..
a) XY-6l<,J(llJ'ld6 m1cm6o A "G)CTn

mJlm6nJ1aru.e6>� <3&<llo .e.o.m0.e.. ( 1)

b) X <Ul0dhmilmi1� m1cm6o A "G)CTn
mJlm6nJ1aru.e6>� <3J<llo .e.o6m6.e.. (1)

c) A, B (6, 10, -8) oG)mll mJlm6
.e6>00 a(!2)0�1-6cm rua,a(!l) YZ

6lgJ<!2ilo1> <!l=1.oo6cm ==mwo

-• .e.. (2)
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